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Scction 4

Show all work. Incomplete answers may receive little or no credit.
1. Find r(t) if r'(s) =2i+6rj—4sintk and r(0) =i+ 2j+k attime t = 0.
Flo = J Pl de L G
_,Jlfwt; "U‘“Qdé Q L +CE :czl ~ (37 7)
- <2t; }tl) L{C'(f) b> +<C" L, 657 A

j, F(o\f{O,OH>+ (6.0, G377 n0y |

2. Suppose a curve in 3-space is given by r{f) =i+ t2j+ 3k
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(a) Find T(:) for the curve above. <\l\ £, t!ﬁ
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(b) State the formula you would use to find N(¢}. Do not actually find N(r)!
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(c) State the formula you would use to find B(¢). Do not actually find B()!
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(d) Find the length of the curve for 0= <2, Note: You have already done a lot of the work.
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